PASSEMASS ABMASS PROJECTNO.: = USED ON HTS

HTS - BASIS HAND TOOL

-1-1105850-8

DWG NO

HTS - Basis Hand Tool RSZ
HTS - Basis Handzange RSZ
Finish: Frame chromed with
black plastic handles
Ausfuhrung: Grundkorper verchromt mit
schwarzem Kunststoffgriff

Schraube M4x11 TE P/N 8-539634-5
Screw M4x11 TE P/N 8-539634-5

Schraube M4x10 TE/ PN 519151-9
Screw M4x10 TE/ PN 519151-9

_ Handzange im Karton mit Bedienungsanleitung 411-18500 verpackt
R eranen s ot M rse 2 A e omEN SeHENES Hand Tool packed in a cardboard with instruction sheet 411-18500 S

1) ABWEICHEND YON DIN 7168 2) LANGE DES KURZEREMN SCHEMKELS

MNEMNMASS- | UBER 0.5 3 3 30 120 400 O 83
1

BEREICH 1) |mis

3 6 a0 120 400 1000
w | LAnGEN- - - FINISH DWN MATERIAL HEAT TREAT
E MASSE MITTEL 041 041 t0.2 +0.3 +05 =08 22'09'2008
@ | Rrapien U FaseN [+o2 |=zos +1 +2 ta ta - P_ Demmer - -
WINKELABMASSE 1) 2) 1 17 | £an | x200 | 2100 | x5 CHK
GENERAL TOLERANGCES AGC. TO DIN 7165 (VALUES IN mm) DIMENSIONS TOLERANCES UNLESS 202h- ng\i'zo 08
1) DEVIATING FROM DIN 7162 2j LENGHT OF SHORT ANGLE SIDE HERWISE SPECIFIED: Itt
TEIL IM BEREICH X__ MIT PMSTRICH-NR.{-1 WIE GEZ)), mm n ISOBL5 APVD = - TE C JE JE
- REVISION-STAND UND LIEFERANTENS YMBOL GEKENNZEICHNET - :Z)Sli f;gm . 4'; E 22 0 9 20 08 Y onnectivity
LOC PART TO BE MARKED WITH PM,DASH NO. (-1 AS §HOWHN), " ) C h W'
REV. STATUS AND YENDORS MARK IN AREA X__ _G_ _@_ 0 PLC - . Itt
- 1 PLC E NAME
AI OBERF\;Q\CJHEN\JERGLEVIC;HSTABELLE %::HEE:E g ELC i, HTS - BAS'S HAND TOOL
DINZ141 R3 VWV | WW C + - i
P | o e Py Ky v E) O A1 | REVISED PER ECO-11-005150  |28MAR11|RK [HMRi== HTS - Basis Handzange
DINIED |y / V/ « V/ V/ V/ - SCALE SIZE DRAWING NO SHEET REY
ALLE UNBEMASSTE KANTEM 0.2x45 ENTGRATET HOLE p LTR REVISION RECORD DATE owN | APVD . OF A‘I
- SURFACE TEXTU - =1- -
REMOVE BURRS, EREAK SHARP EDGES 0.2445 ESEC 1 2 A3 C 1 1 1 05850 8 1 1

AMP 3306-7 REV 23FEB8S \
i A

8 7 i 6 5 B 4 3 2 1




